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1. Which city is the second largest French-speaking city in the world?
A. Ottawa. B. Montreal. C. Vancouver.
2. What does the dialogue tell us about the woman?
A. She has found a permanent job.
B. She likes part-time jobs.
C. She is still looking for a permanent job.
3. How long is the border between Canada and the USA?
A. 8,982 kilometres. B. 8,892 kilometres. C. 7,892 kilometres.
4. What can we learn about the woman?
A. She is not willing to show her wildlife photographs to the man.
B. She has been a wildlife photographer for a year or two.
C. She has been a wildlife photographer for some years.
5. Which of the following countries is not mentioned in the dialogue?
A. Kuwait. B. Vietnam. C. Portugal.
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6. What does the man say about the trains in Switzerland?
A. That they always arrive on time.
B. That they are very clean.
C. That it is very cold inside of them.
7. Why does the woman think that she couldn’t live in Switzerland?
A. Because the trains are too bad.
B. Because the cities aren’t modern enough.
C. Because the weather is too cold.
8. According to the woman, why might the cold not be such a problem
in Swiss cities?
A. Because Swiss people don’t get cold easily.
B. Because it is easy to leave and go to warmer areas by train.
C. Because people have everything they need to deal with the cold.
WrsE 7 BOMRE, A 9 & 11
9. Why is the man worried about his friend, Bill?
A. Because he thinks that Bill watches too much horse racing.
B. Because he thinks that Bill goes horse racing too much.
C. Because he thinks that Bill bets on horse racing too much.
10. According to the woman, what would happen if they tried to help
Bill?
A. He wouldn’t listen to them.
B. He would understand that they wanted to help him.
C. He would accept their help.
11. What do the two speakers decide to do at the end?
A. Find a solution that would be acceptable to both sides.
B. Tell Bill that they will no longer be his friends if he doesn’t quit
gambling.
C. Let Bill do what he wants to.



BT -

Wreh 8 BeAfkl, 445 12 % 14 5,
12. Why are there so many forms to fill out?
A. Because the Vietnamese government doesn’t want too many people
to go there.
B. Because the world isn’t a safe place at the moment.
C. The reason isn’t mentioned.
13. What does the woman say about herself?
A. She always puts things off.
B. She always finishes a given task as soon as possible.
C. She usually asks others to help her finish a given task.
14. Which of the following is true about the two speakers?
A. The man will go to Vietnam with the woman.
B. Both of them often find excuses to avoid doing things they should
do.
C. The woman never finds an excuse for herself when she needs to do
something.
Wrsh 9 Btk B4 45 15 % 17 1,
15. Which of the following is not mentioned as a reason why the man and
. his wife make their son take part in so many after-school activities?
A. It is good for his health.
B. It makes him skilful at various different things.
C. It means that the man and his wife don’t have to look after him all
the time.
16. How often does the man’s son study piano?
A. Twice a week. B. Once a month. C. Once a week.
17. Why are the man and his wife not concerned when they hear about
other children killing themselves due to pressure?

A. Because they think that these stories are all lies,
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B. Because they know that their son likes pressure.
C. Because they believe that they don’t put too much pressure on their
own son.
WP 10 Bob kL, 12546 18 = 20 &,
18. What is mentioned as a reason why London helped Britain become
one of the world’s wealthiest countries in the 19th Century?
A. It was at the centre of trade in Britain.
B. It was the capital of Britain.
C. There were many factories located there.
19. Which of the following is mentioned as a result of many immig;raﬁts
moving to London? ‘
A. Many people there don’t speak much English.
B. There are now many more pubs in London.
C. All kinds of world food can now be found in London.
20. What is mentioned as being a traditional after-work activity in Britain?
A. Eating different food from all over the world.
B. Having a glass of beer at the pub.

C. Going to a club and listening to new, modern music.
Exercise 2
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1. What are the two speakers talking about?
A. Why Australians like sport very much.
B. What food Australians like most.

C. Why most Australians are overweight and unfit.
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2. Which of the following is not mentioned in the dialogue?
A. Australia might be the No. 1 sporting nation in the world.
B. Many people say that Australia is a great sporting nation.
C. Australia’s outstanding performance in the Olympic Games is really
amazing.
3. Which of the following is true?
A. The man once played tennis with an Australian child.
B. The woman went to visit Australia last January.
C. Few Australian students take after-school tennis lessons.
4. What can we guess from the dialogue?
A. The city has existed for nearly fifty years.
B. The man is amazed to see many tall buildings in the city.
C. Both speakers have worked in the city for five years.
5. Whom does the girl feel she owes her success to?
A. Her mother. B. Her father. C. Her teachers.
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6. How did Mary feel when she first got to China?
A. She loved it.
B. Some things were odd (&%) to her.
C. She hated it.
7. Where does Mary usually eat breakfast?
A. At home. B. On the street. C. In a restaurant.
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8. Why are Mary’s classmates less willing to try Chinese food than Mary?

A. Because they are worried that it might be bad for their bodies.
B. Because they are worried that they might not like the food.
C. Because they are worried that the food will be too expensive.
WrsE 7 Bk RE, IS 9 & 11 M

9. What does the woman mention as an advantage that the British will
have at the Olympics?
A. They are used to the local weather.
B. The crowd will be supporting them.
C. Britain is a very rich country.

10. Where is the man from?
A. Britain. B. Australia. C. We don’t know.

11. Why does the woman think that Australians like sport so much and are
so good at it?
A. Because they are naturally gifted.
B. Because the weather in Australia is suited to doing lots of sport.
C. Because the government makes everyone do lots of sport.

WPEE 8 BobPL, &5 12 = 14 7,

12. What is the likely job of the man?
A. Receptionist. B. Scholar. C. Driver.

13. Why does the woman want an ambiguous name?
A. Because she sometimes likes to act like a man.
B. To avoid being judged according to her gender (#£35l).
C. To gain more respect as a scholar.

14. Which of the following is the woman’s opinion?
A. Life for men is not as difficult as life for women.
B. Sexism is not really a problem.

C. Not all women should be respected.
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Where did the man find the wallet?
A. On the ground. B. In the bin. C. On a monument in town.
Why does the man think that he has the right to take the wallet?
A. Because the wallet does not have any money in it.
B. Because he knows that the owner himself is a thief.
C. Because it is the owner’s fault to lose it.
Why does the man believe that everyone should just look after
themselves?
A. Because he doesn’t believe in morals.
B. Because he doesn’t think we should care more for other people.
C. Because then everyone will be cared for.
Wr s 10 Bepd kL, B85S 18 2 20 i,
Why is it not difficult to be a hunter in the Amazon rainforest?
A. Because the animals are stupid and easy to catch.
B. Because it is full of animals.
C. Because the weather is so good.
Why do some people in the Amazon rainforest perform their dances?
A. In order to impress visiting researchers.
B. In order to show their respect for their gods.
C. Because they think that they are gods.
Why does the government of Brazil not want to stop big companies
cutting down the Amazon rainforest to grow crops or obtain wood?
A. Because the companies give the government lots of money.
B. Because the government doesn’t like the Amazon’s original
inhabitants.
C. Because Brazil needs money from selling the crops and wood to

foreign countries.
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1. For how many years have the advances made by the Greek civilization
in various fields influenced?
A. About 2,000 years. B. Over 2,500 years. C. About 1,500 years.
2. Which of the following is true?
A. The man does not think the marble sculptures should be returned.
B. The marble sculptures were transferred to the British Museum in
1816.
C. The marble sculptures were returned to the Greek Government in
1817.
3. Which of the following is true about the woman?
A. She spent a two-week holiday in Italy.
B. She did not take any pictures during her holiday in Italy.
C. She wants the man to take some pictures for her.
4. What does the dialogue tell us?
A. The man is an expert on conservation of ancient sculptures.
B. The ancient statues in the open air have been moved and stored in
a protected museum.
C. The woman thinks that the best form of conservation of the ancient

sculptures is prevention of damage.
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5. What happened last night?
A. There was a loud explosion.
B. The two speakers visited a warehouse storing gunpowder.

C. A bomb exploded outside the woman’s house.
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6. What is the main reason that David gives for his parents moving to
America?
A. They liked the weather in New York.
B. The government of Nigeria had many problems at that time.
C. They loved American culture and art.
7. What does David’s father do for a living?
A. He is a policeman.
B. He makes sculptures.
C. He buys and sells art.
8. Who can get protection from the Nigerian police?
A. Those people who give money to them.
B. All the rich people.
C. Anyone who wants to be protected.
WEss 7 Bobb R, A 9 & 11
9. Why is the woman so surprised that the temple is so beautiful now?
A. Because it has undergone a large restoration.
B. Because the owners don’t have much money to decorate it.

C. Because it is so old.
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10. Why does the man like the most sacred areas of the temple most?
A. Because they are beautifully decorated.
B. Because they remind us of what the temple should actually be used
for.
C. Because they are very quiet and relaxed.
11. Apart from monks, which other type of people are mentioned as
staying in the temple in the past?
A. Travellers. B. Noblemen. C. Servants.
Wr s 8 Bebrkt, [ % 12 2 14 .,
12. Apart from the prevention of crime, which other reason is mentioned
for the government requiring new ID cards?
A. To control people.
B. To deal with the problem of illegal immigrants.
C. To help with people’s health.
13. What is probably meant by “biometric data”?
A. Any information on an ID card.
B. A picture of someone’s face.
C. Unique information of a person’s body.
14. In total, how much time will the man have to finish renewing his ID
card?
A. 1 month. B. 2 months. C. 3 months.
Wr s 9 Bedt g, %5 15 2 17 .
15. What is the man’s job?
A. Reporter. B. Sports player. C. Teacher.
16. What most surprises the woman about the man’s life as a child?
A. His parents were divorced.
B. It was very special.

C. It was very normal.

10
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17. Why does the man not like many newspapers and magazines?
A. Because they say that he is poor at doing his job.
B. Because they are too expensive.
C. Because they make footballers seem like superstars, when actually
they just have normal lives.
W s 10 BeA kL, M550 18 2 20 R,
18. Why did Guy Fawkes and the other men dislike Britain’s king and
rulers at the time?
A. Because they were of a different religion.
B. Because taxes were too high.
C. Because they wanted to rule Britain themselves.
19. What happened to Guy Fawkes and the other men in the end?
A. They were put in prison for life.
B. They escaped and were never caught.
C. They were killed.
20. What is traditionally done with the models called “guys”?
A. They are burnt.
B. They are eaten.

C. They are put into fireworks.
Exercise 2
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1. What is the woman going to do this afternoon?
A. She is going to attend a lecture.
B. She is going to give a lecture.

11
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C. She is going to meet a professor.
2. Which of the following is true?
A. The woman is going to visit China with her friend.
B. The man suggests that the woman include Xi’an as part of her tour.
C. The woman is going to visit China on her own.
3. What does the dialogue not tell us?
A. Only three of the thirteen tombs called Shisanling are open to the
public.
B. It took 100,000 people 25 years to work on the building of
Xiaoling.
C. Xiaoling is located in the suburbs of Nanjing.
4. What can be learnt from the dialogue?
A. The man knows everything about the emperors of Qing Dynasty.
B. The woman has been to all the ten tombs of Qing Dynasty.
C. The woman does not know where the tenth emperor of Qing
Dynasty is buried.
5. When and where was the tomb unearthed?
A. It was unearthed in a village yesterday.
B. It was unearthed in the centre of a town yesterday.

C. It was unearthed in a village this morning.
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6. When will the man and his family return from Tibet?
A. After 2 days. B. After 14 days. C. After 15 days.
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